PART-1II
Curmeflwes / ECONOMICS

(S0D wHIID ey qu) / Tamil & English Version )

sre sieray : 2.30 wenfl Goyid | [ Qurgs wHLQUsmSsET : 90
Time Allowed : 2.30 Hours | [ Maximum Marks : 90

sifleysorsst 1 (1) Soassg sleamréseyn sAurs uSard sdaagr aaruene
slurisgs Qardrareys. sirslufeisa @eapudmuden =i@ps
semaErenfliuraii_b o angwras Gsfelssalib,
2) Beob sdag smuy awlmer Wl HEL TRsuUBHEGD
=g 5Camy HeaughEn LudaBis Caemiin. LIRS umrashHE
Cluemfled Lwenu®GSsab.

Instructions : (1) Check the question paper for faimess of printing. 1f there is any lack of
fairness, inform the Hall Supervisor immediately.
(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

u@ESl -1 /PART -1
@ily : () oewengg clamssEnsEh e wafiEsab, 20x1=20
() OGar@ssiul@drer wrpn doLsefio Bsqb ghymLw
e CoipAsds5E GO GLer e fenamyh Ceids
er(pBeLD.
Note : (i)  Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and
write the option code and the cofresponding answer.
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1. A lumento @w&&aﬂgﬁm :%glrﬂu_lﬂ’
(1) Dhedos LGl LomTage ) Qawandd Frdenev
(8) Lo RIS ('T) FrpGeudiFen
The author of scarcity definition is : @ | |
(a) Alfred Marshall Lionel Robbins
(d) Samuelson

(c) Adam Smith

Lol QUITEHETTSTTLD eraigl -
(1) SLLemerL] QuTEHETTSTTLD

(<) uenrefwed QuUTHETTSTILD
(@) seraiiama|L QuTHeTTSTILD (FF) ehengls Quir@meTmSmyLD

Traditional economy is a :
(a) Command economy
@ Subsistence economy

(b) 'Monetary economy
(d): Market economy

3. @anflueowrs, aisd), LUy LIGOTL_TRISET GTauTLIg :

(1) LIWGTLITL lg.6nauT A Log)

(<=1) Coemeuanwitl WMLILG)

(@) @oeus LGTL EisemeT usLILG SIS

() eApLLRSMeT euamsLILI(HSSHaIg)

Necessaries, comforts and luxuries are :

(a) Classification of utility

(b) Classification of demand

(c) Classification of free goods and services
@ Classification of wants

4. msrCeurt eTésd eranLg) :
(@) Comar=gafly - (%) Cyemau > el
(8) 568 cdow—2 araw efaa (%) MVn=TVn- TVn-1
Consumer surplus is : |
(a)  Demand =Supply (b) Demand > Supply
{@ Potential Price — Actual Price ( d) MVn=TVn-TVn-1
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5. Qo fleow nwaur® yhsluiorgn GuIs |
(<) Qursst LWeTUTH ifsfsss; Qs bGEHDS!
(<) Cwrsgl LwerLm@ GmDWS (Eﬂg,rrL._f!Eﬂ(‘f"'J"JC’]-'-T@J
(@) Ourssl LWELTE Bs G sieTenal T -OEDS
() Qurgsl LweTur(h 2 & <jereng orl_HHDS!
When marginal utility becomes Zero -
(a) The total utility starts increasing
(b) The total utility starts decreasing
(c) The total utility reaches the minimum
@) The total utility reaches the maximum

6. Geeveuwder oFlsfllien @ser epeld srarreD
(<=1) Czena cuenerGaETL g6 2 &¢ Leafl
(<=,) Caemau auanerGamiigen &1 Laef]
(@) Caemeu cuamarGamrh GLb Cuwiires
() CGr Csemeu cuamerCaTigd Baihg CFDIHE
Increase in demand is shown by :
(a) The highest point on the demand curve
(b) The lowest point on the demand curve'

@ Shifts of the demand curve
(d) Movement along the same demand curve

}

7.  GNEGS Come QpSpFs erélinemn craments G)(HHSTe :
(1) X uawqpd Y LGl (LpLd LSS OU Lieir_miseT
(<),) X uerapd Y uaiun_(gJLb Blepmalmen Ligledlser
(@) X L_JGb"oTI_@L'D-Y LIGRTL (LD 2 melDDaey
(FF) X Lehr(pd Y LGl (pd o L @Il Ligir_faige
When cross elasticity of demand is negative :

(@) XandY goods are substitutes

(b)) XandY goods are perfect substitutes
(c) Xand Y goods are not related

@ X and Y goods are complementary
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8.

10.

raflufled |
FLoflene Lararlud

LTS |
(1) elene i 3 b

b iafll! o
(<) Gsbemeuumq\-".” @ﬁmméi(g"ﬁ“@ Si6MILE Caman G
(@) S|LiLarafluie) .
() Gupsmpiu sSSP
At the point of equilibrium :

(a) Only one price prevails -
(b) Quantity demanded =Quantity supp
(c) The demand curve intersects the supply curve

@) Al the above

2 HuSH eremugy) :

(1) by wiy

(@) vweruriger 2jufley
Production refers to :

(a) Exchange value (b) Technology

(c) Destruction of utility @ Creation of utility

(<) CsTflem L Lib

(fF) LweTurlenl 2 (HeuUTdHESe

Cleupdlariorer Qgmfler apenenGeunir &shumﬁ :

(21) voGaig 2 pusH swemeseen Siorafliina
(%) 6ops Smdlow aphiEue

(8) yeargee LLGTLGSELGL

(FF) QLI srhisema LOMILILIGU T

A successful entrepreneur is one who :

(a) Decides different combinations of factors of production
(b)  Pays the lowest wage

@ Accepts innovations

(d) Avoids risks
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13.

14.
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EIJ'ITG’Iﬂ LDW,[DH'{:F G i
O Qe UGS pEUTE HaLGHGL :
(1) TVC/Q

(<=4) AC/Q (@) TC/Q (f) TFC/Q
Average fixed cost is obtained by djy; disx
g:
W TR ®) Ac/q © TC/Q @ TtEC/Q

Sl aiwaGan® oran SlanipbslILBEDS.

(1) BeimLsres Qs wals Gar (<) GREALSTOSF Qeeweys Gar@d

(@) symefl Qseeys Cang (v) @dSPaes Qswas CETH
is called the planning curve.

@ Long run average cost curve (b) Short run average cost curve

(c) Average cost curve (d) Marginal cost curve

arg Hlenaoulied gqp Hlmeuemd Fiofblenars ngub :

(1) MR=AR (<) MR=AC (@) MC=MR () MC=AC
A firm can achieve equilibrium when its :

(@) MR=AR () MR=AC @ MC=MR (d MC=AC

Beppays Gur guie Caamaustar® @euaurny GmEELWD :

(=1) EpCrrsd sfipg Qeagid () AerigssTs QoEED
(@) Cuwatprsd sfibs Qeoaib (/) SHevLol L 1o1E @)HESESD
Under perfect competition, the demand curve is :

(@) Downward sloping (b) Vertical

() Upward sloping @7 Horizontal

[:r_f,]@uqa; / Turn over
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15.

16.

17.

6

ar é]g)L'JLJ @Meburr@m.

LIGooTL_ @mgurr@ B (:‘2{,) @@mﬂ_ —

. L Gur-lg-
(=1) eppmifienomert 0y i
' womifenio
(@) Herpayls GuUIL | -
Product differentiation is the sl (b) Duopoly
listic competition
@ Monopo (d Monopoly

(c) Perfect competition

Guflwe QurmeTTSTTSSeT ewwl) Wrésemear :
(1) euliigqujtb LIGRT(PLD

(<) UarTE@sTaTens wHnL HHSAsTET®S
(@) eugprarepd Ceuena GUTLILIL|LD

() elevewd Qeuafui@id

The central problem of Macro Economics is :

(a) Interest and Money

(b) Monetary Policy and Fiscal Policy

@ Income and Employment
(d) Price and Output

auorer Bliarrb upflu ereflu Carlum’ el elarés &drs
LweruBsSl e,
A

(1) 2-pusdHerwujib @&mmmu@ :

() AuméSawyb whmib WO ESepwiwd

(&) msiteeub WsSle i

() @LOCrds Coamaun 2L0 Quorgs ey b

To explain the simple theory of income determination, Keynes used
(a) Production and Expenditure

(b) Multiplier and accelerator

(c) Consumption and inves P
@ Aggregate demand and aggregate supply
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19.

20.

BISTay gy, 7 1347 (NP)
@ |TL_. S\ Lof s
ST fTenLy @ﬂma;@ggm@ DI

(é{) GIJ@LDWGWL‘EI, (g'g:Lﬁ]L:le

2 Qran®HsE Qe Guiwime

. () Geay, PsdE
(&) Bster, aupioram,
() Qeeay, Gablly

Consumption funct;
C §
tion explaing the relationship between ___ and

(@) Income, Savings
(b) Expenditure, Investment

Consumptio
@ puon, Income (d) Expenditure, Savings

Lewtd Qasmerensen @{m@,_]@g@m@ )

(1) emow euriid) (21) s@ilwurt genm

(@) ewwow 3D T&H (F) bl e
Monetary policy is controlled by :
@ Central Bank (b) . Private Sector

(c) Central Government (d) State Government

Loedw HE fow fisomsie gabaurm b @m; s
@'ﬁ)@jé;@&rreirmuu(gélgpgj.

(1) yew e (<) seefimamn®

(@) SgiueL a0 () ffluran®

In zero based budget every year is considered as a :

@ S — (b) Academic year
e

P — (d) Financial year
e a

[ Spliys / Turn ov
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(NP) _ 1/ PART -1

ued Gt 30 D&

i i s ‘ 1)
 gapudiBsai. SipHe et 7x2m14
r65@H5O

6 b exp e
o 9 afl&say LD

SL_L_muwng elen-t .
r 30 is compulsory:

sestion numbe

geven questions and 4

Answer any
Hér Gavdseid LMD "

a9 LomiTey

21.  QuUTEHETTSTYLD Do <2
of Economics.

State Alfred Marshall’s definition

22, GfHLILESEHSETET Iy GTTRISET wreal ?

What are the causes of wants 7

23. Gsmey Qpdlipssluien cuanaseT wWreal ?

What are the types of elasticity of demand ?

24. sFwpHlie|d Ljeraif] erempimed Gresen ?

What is break even point ?

25. olema Cuasden @ e HLBS®IEGT WTena "

What are the two conditions for price discrimination ?

26. LmHM 2IHWID GreIF WG ?

What is transfer earnings ?

27. Gumred GUILD GTEMTE) GTeses ?

What is quasi-rent ?



28.

29.

30.

31.

32.

33.

34.

5 1347 (NP)

Do Bleva e !
;B] BI&Te E"LLQ,@@@ @@fﬂﬂ"—b H(HS
Give the for .
mula for Marginal Propensily to Consume.
SL_GIT D|CTES Gasrrl_'_uml_tq_ein Emelger wrened ?

What are the instru
ments of quantitatiye credit control ?

Gurrfflwr QFalsGualer aufl - @mé;a;wggmwé; Fa 5.

State the Definition of a tax According to Prof. Seligman.

U@ - 11/ PART = I
@ 40 -G

gCseib 67 arTés@nse e iefdsab. efenm e
7x3=21

sL_Lmuwns ofeLwefl&sea|ib.
Answer any seven questions and question number 40 is compulsory.

<L 1b auiigdlen el Gassarsamsll LHHIL G@PUTHSMET TS

Examine the criticisms against Adam Smith’s wealth definition.

sy QUIGETTSTTSSlan HeeLosmar elemé 8.

Explain the merits of a mixed economy.

o puGH aumiiL euanarGar® EALIOag erarer ?

What does a production possibility curve refer ?

Aouen Ldleorls updl Sm GO DTS

Write a short-note on Giffen Paradox.

[ Slgpliys / Turn over
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35.

36.

37.

38.

39.

40.

41.

Qe wpenenCeumilen Lianilsar W

;0
Ghns 7

. ' i HeLIL
SIkETg sTasHd swflama elae eraseumy Sirworaflss

How is equilibrium price determined in the market period ?

raned ?

What are the functions of entrepreneur 7

pomifienwen s HLULIHSSEID @J@@mmm wrened ?
What are the methods of controlling monopoly ?

@mmun—@gsﬁ wrened ?

And Hew 2 HLsHE Hper Lias CETLLITL 46T
pution ?

What are the limitations of Marginal Productivity Theory of Distr!

Senflen euqmpomen Hienrian LHH 6 el CarL L igen r@GaTeTaaman

edlens s,

” : : 7
What are the assumptions of Keynesian theory of Simple Income Determination

ueRTLorhm pennuded e erer rFsamasaman 656 @a.

Explain the difficulties of barter system.
L@&dl - IV/PART - IV

IleneSg) edlanssErs@n el welésea. 7x5=3
Answer all the questions.
(=) Fgirvgdlar uarysmaTb, g Hpliysaid eTan el Guigy) b

Brendlanard eSlemd@:s.

36060
() GopHsl Ced Lweaur® 698 Waner Li_ib vUeTHE eflerssin 5mas
(a) Explain the features and any four meris of so cialism '
OR

Describe the Law of Diminishin = . - .

A § Marginal Utility with a diagram.
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43.

44,
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STV
TpgIs PEDEA G gy yerefl @peppuded yemedBeuans eflflaurs
cqu e mptions of indifference curve analysis ? Explain consumer’s

ilibrj ing indj
lum using Indifference Curve approach.

OR
®) Explain : :
plain the point methog of measurement of price elasticity of demand in detail.

(<=1) Czemeu eldlenwis FM1&. Coeney efHuflen eNHeSes@amer wrenas ?

S{6060 5

(=) swflevay eSlened ereveimn SioraflsstL@Sns) cratUemns QuETLILSSIL 6
efled g,

(a) State the law of demand. What are the exceptions to the law of demand ?
OR

(b) Explain the determination of equilibrium price with a diagram.

(1) Fsjerey 2 HusHs Carhsar aamred aae ? Sser @udLsamer
eNaTéGs.
EYVEVE
(<=4) @ Hlmeuad Gun@srar@pd HaGeum Cewesamer clleandEs.

What are isoquants ? Describe their characteristics.

OR

(@)

(b) Explain various costs incurred by a firm,

[ HHLliys / Turn over
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45. (31) Gowu srosseo, Blevpeys UM -u9e a9aney I
ereleumTp) Biremissiu@Heamer ?
 Seveog
(=) popflanvt Guriyu¥@e «fme LoD miid
SrorafssliL@ s cranieng aTé G,

(a) How is price and output determined in the short-run under perfect
competition ? _

OR

(b) Explain the price and output deternﬁnfition under monopolistic competition.

DOID LT Sdler jaray

LI G00T LB & 61T D6 6Téleurm)

-

46. () N&sTiCLreley mwryé@a;rrLurrl'.tq.méw <2 ITs,

3160605
(<) ]:B. Gaulleir Situsmg. eflfudenen Hperiis,
(a) Examine Ricardian theory of RENT.

OR
(b) Critically examine J.B. Say’s Law of Markets.

47.  (21) venr sjemeiBd Camriim e, efleuf&sayLb.

360603
() pfsCsrereasuler Corés s aTaaCLaid mrdamer edeufés.
(@)  Describe the quantity theory of money.,

OR
(b) Explain any five of the objectives of fiscal policy.

~00g.
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